
,ize;j fzpjk; 

njhifaPl;bd; gpuNahfk; 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

njhifaPl;bd; gpuNahfk; 

1. tisap xd;wpd; fPOs;s gug;gsit fhz;gH. 

2. tisapfspdhy; milf;fg;gLk; gug;gsit fhz;gH. 

fPyj;jpd; gug;gsT = y x 
 
y=f(x) vd;w tisap x=a, x=b vd;gtw;wpYs;s epiyf;$Wfs; kw;Wk; x mr;R vd;gtw;why; 
milf;fg;gl;l gug;G A vdpd;> 

p(x,y) 

y=f(x) 

y 

a b 

x 

x 

x 

y 

0 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

fPyj;jpd; gug;gsT = x y 
 
y=f(x) vd;w tisap y=c, y=d vd;gtw;wpYs;s epiyf;$Wfs; kw;Wk; y mr;R vd;gtw;why; 
milf;fg;gl;l gug;G A vdpd;> 

p(x,y) 

y=f(x) 
d 

c 

y 

x 

y 

y 

0 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

 
   y=x2 vd;w tisapapd; fPo; x=0 ,Ue;J x=2 tiu> tisapf;Fk; x mr;Rf;Fk; ,ilNaAs;s 
gug;gsitf; fhz;f. 

A 

2 0 x 

y 

rJu myF 

 
   y=x2 ,y=8-x2 Mfpa ,U tisapfisAk; xNu tupg;glj;jpy; tiuf. Kjyhk; fhw;gFjpapy; ,U 
tisapfshYk; cs;slf;fg;gl;l gpuNjrj;jpd; gug;gsitf; fhz;f. 

cjhuzk; 1 

cjhuzk; 2 

,U tisapfisAk; jPHf;f. 

ntl;Lg;Gs;spfs; (2,4) (-2,4) 

2 0 x 

y 

-2 

rJu myF 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

 
   y=5x2 ,y=2x2+9 Mfpa tisapfis xNu tupg;glj;jpy; tiuf. ,U tisapfshYk; 
cs;slf;fg;gl;l gpuN- jrj;jpd; gug;gsT rJu myFfs; vdf; fhl;Lf.  

cjhuzk; 3 

,U tisapfisAk; jPHf;f. 

0 x 

y 

A 

rkr;rPupdhy; ,U tisapfshYk; cs;slf;fg;gl;l gpuNjrj;jpd; gug;gsT  

rJu myF 

 
   y=x2 ,y2=x Mfpa tisapfis xNu tupg;glj;jpy; tiuf. ,U tisapfshYk; cs;slf;fg;gl;l  
gpuNjrj;jpd; gug;gsitf; fhz;f.  

cjhuzk; 4 

,U tisapfisAk; jPHf;f. 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

y 

1 0 x 

1 

y=x2 

y2=x 

Method I Method II 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

cjhuzk; 5 

 
   y=(x-2)2 ,y=4-2x Mfpa ,U tisap- fisAk; xNu tupg;glj;jpy; tiuf. ,U tisapfshYk; 
cs;slf;fg;gl;l gpuNjrj;jpd; gug;gsT  rJu myFfs; vdf; fhl;Lf.  

2 
0 x 

y 

4 

3 

2 

1 

1 

cjhuzk; 6 

 
   y=x2+3, y=4, y=6 Mfpa tisapfshy; Kjyhk; fhy;tl;lj;jpy; milf;fg;gl;l gug;G 
rJu myFfs; vdfhl;Lf. 

0 x 

y 

6 

4 
3 

A 

y=x2+3 

y=6 

y=4 



 

fzpdptbtikg;G jpU gh.rhap&gd;> j.njh.njh. Mrpupau; (t/fdfuhad;Fsk; kfh tpj;jpahyak;) 

njhFg;G :-jpU K.uhFyd;> MrphpaH ,ize;j fzpjk; (ah/kfh[dh fy;Y}hp) 

juk; 12>13 

cjhuzk; 7 

 ntl;Lg;Gs;spfisj; njspthff; fhl;b y=ex , y=e-x Mfpatw;wpd; tiuGfis xNu tupg;glj;jpy; 
tiuf. ,U tisapfshYk; vd;w Nfhl;bdhYk; cs;slf;fg;gl;l gpuNjrj;jpd; gug;gsT 
vd fhl;Lf. 

1/2 0 x 

1 

y=ex y=e-x 

-1/2 

y 

A 

rkr;rupd;gb Njitahd gug;G =2A 

cjhuzk; 8 

 gFjpfshfj; njhifapliyg; gad;gLj;jp xe-xdx If; fz;L ,jpypUe;J tisap y=xe-x  ,dhYk; 
x=1, x=2, y=0 vDk; NeHNfhLfshYk; cs;slf;fg;gLk; NeHNfhLfshYk; cs;slf;fg;gLk;  
gpuNjrj;jpd; gug;gsitf; fhz;f. 

c– njhifaPl;L khwpyp 


